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Tima Allcwed 15 Minules I{...r:.-*':l;-;'.l s 150 =h
Maximum Marks 12 12: A%
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Mote Fous possible answers A, B, Cand D Io eath queslion are given The chalce whch you

think ks correct, il ihal circle in front of that question wih Marker of Pen ink in the angwer-book
Culting or filling Two of more cicles wil masull in 2oroe mark in thal guaston

Which one of the following is the smallest quantity : s L:trf-:- - df = L SFEe]t -3
5000 ng (B) wug © 2mg (8) 0ot g (A)
Which one of the foliovang unll is not a derved unit: g F eyt = Loz
wan = (D) Mewion o (C) Kikegram rlf,f@ Pascal LFE &)
A body has ranslatory mobon it t moves alonga® e & 27w Sidn o Akt 5 ofr g 313
Circle L Sa0 I:E]-- Straight bne L..f;f“-"' JERNT.Y
Curved path #=-bAF (D) Line withoul ratation Fed €
How many states of equilibrium P L 4_?-: g owi|a
4 (O 3 & 2 (B) 1 ()
The number of [orces Ihal can be added by head lolad rule & - bhe I'.:'-l:l._- gri_‘}"._,ct;“—'ﬂﬁd':}-gr:_ Jhdfi'é: 5
any number IS5 (DY 4 (C) 3 (B) 2 (A)
The orbital speed of 2 low orbll satelite is pelerrlni SA bl 26
soo0ms” (B)  800ms {C) Bons! (B Zar0 7 (A
Ome horse power is equal to ! :g_Jrr r "EJ"EHE.’ T
700 W (D} 750 (C) 740w (B) 748w (AD
The work done will be zero when the angle between the force and ¢ < Friz Wikl Lo Jod s fnpr o |8
the dislance 15
130° (D} 90° (€)) 60° (B) a5° (A
5} uni of pressure s Pascal, which s equal to T bl L,F'Ii_ﬁ.jl.;.ﬁ.;;ipy‘_{hfﬁﬁf" =]
10° Nm ™2 (D) 10° Nm? (C) | ™ (B) 10* Nm ™ (A)
On celsius scale, 00K =7 1300K =7 of JE LA |10
2%C (D) 5 (€) 2°C (@) 7°c
Theﬂngunfdjnlcalmernmetﬁrh: :{_aﬁ&J }f-’r':}ds.,;.,;lfﬂ
isec-42°C Q)  30°C-4°C (O 3§50 -42°C (B)  20°C-42°C (M)
In sobds, heal ls tmnsferred by - :;L:,.:g)‘f..-.;.at?d‘ﬂ:’lﬂrl-f:'m’ =
Conduction ;,-P(l'f Radiation Sk (A
Absorplion e (D) Conveclion n..'"': <)
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paper | (Essay Type) (or/ite) () 4._..'.'-Li._‘.1] I = _;.I{

Time Atowed 1 45 hours 145 ,_1-,_,.’

\ Maximum Marks 48 { PART:| J}" ) 48 -_‘L_,’
10 2. Write shorl answers to any Five (5) questions : :',‘_;r =R ,r‘" L = (5) 5& 3 Jf -2

jjj;_,’: U 3L o it (B (B

(i) Ditterentiate between base quantitins and derved quaniities - ” AR =4
Y S S I (1

(1) Define plasma physics, . A

r L » Y

(i) Write down two rules fo idantity tha significant figures -.:c'r et L 282 O U f"" (i}
) - _]..I-

(iv) Differentiate between vectors and scaiars *d’_‘r ;_J,J .,_,': Fed : i~y (V)

Ay F A e \
{v) Define position, 2y e )

{vi) Wrie down malhematical form of Jrd equation of motion AP de g 2l ‘/" =47 (vi)

{wii} Wrie cown two disadvaniages of friction N ORI .ﬁ "-’ {wa)

(v} Difterentiate between centripetal lorce and centrfugal force & J);_,i_f.: !'.rléd,f:'er' .7 ..:'f.f #= (viie)

10 3. Write short answers to any Five (5) questions : :f’.!_ﬂr ICHAT 4 ;"? L =iy (5) SE — Jf’ -
(i) Wnat is a solar cell? Wrile down [ts uses .2'.‘.{‘7 = s L ! ".._ ::r'r ._,"' o i)
(i) Why an energy saver tamp is better than an e b A5 ;_,;d’ ._.-ﬂJI S ) ._.r-" Uy ;_..-r- &t i)
i electric lamp? 2 ;

(i) Define power Wnte down its Sl unit. - | :"31 Vo -.-,':: ._:.ixf % (1t}
: {v) Define force of gravitation -E{ i u" il A 7 o (V)
(v) Wnatis meant by arlificial satellites? Write down their uses. - o e o .._r'.J._,,"" .-"’ fes (v)

(vi) Why does the value of ‘g’ vary from place to place? e dr ,,,szl i { ._.rr"' i ..J g (w1}
(wii} Wrte difference betweon like and unlike paraliel forces ...'_'Jr 37 e f.u:’ J"-“"r .... Yt of et (1)

{viii} Define centra of mass S TN h-;-' = (waii)
10 4. Write short answers to any Five (5) questions : : e =7 /3 L ...-.'r' {5] 3= ;:;.-"' -4
(i) WWnat is meant by elastic imil? Te dr bl <. --*’-.- et (1)
(i} Define density and write its und “_:___.’,T i ¥ Lﬂ .-1'1 h:-. - ’ ': .,.*"- (i)
(i) Wree four differences between golid and gas state of matter. -Ju;’ u'q_.IuL, anl _,'.-" = ._'; e (ul)
() WWhat s meant by inlemal energy of a body? T<. Jf,r'v"' o e .f:‘ G (iv)
(v] Define specfic heat capacity -.;.; ...5.; ._": P T (¥}
(vil) wnatis ransfer of heat? Wrie ls modes. -.'L: .E_'.,..,J' Pl T ol L'- = =i T ()
{vil) Upan which factors radiation depend? ‘i"..j.,l. "lf e’ A § ,;*-'-_'-'5 (v}
{vill) Why does land breeze blow In the righl? fe O g,'!,r O Lo s < {wiin)
(PART - Il pros)
Note : Attempt any TWO questions. & =4 Lalr ve J--" <7
13 5 (a) Derive the secand equation of mation with .‘."5,. bz il .jur,}._.-'. La l._l, ‘:_ = (1) _S
trhs help of speed-time graph
5 "-'Jrr.;u,ﬁ&';ﬁﬁ?.fﬁfd:u-ni.LULA:rJ-1'"':] S Sl 180 em r'lf':_"l.;! Fos (L)

{b) How much canlnpetal foice 18 needed o make a body of mass 0.5 kg to move In a cirche
of radies 50 cm wilh & speed 3 o gl

4 £ (&) Explan any two states of equilibium -h'E. s d U g J.-. J A5k (L) 6

-] (b} Calculate the valus of ‘g &l @ height of -'é I":I"'".:.-JL,‘I "0 ¢t 3600 km = 1‘::_-.‘- =
00 km above e aurface of (he aunh 4 = =

1.9 T (&) Define and explaln latent heat of tusion _.I:,_: e il k' M J‘ =l dk (L) U7

e 1 Sem’ L L 2 AL _,_;_.—5.,'J_"1£|_:‘f.v.-, WM OIsN LA et (o)
(B} A sluden presses ber paim by ber thumb with a force of 76 N What woulkd ba the

presaure Undes s thumb hoving contact amea |.5¢ m‘. 7
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